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ufercof uest us1
Model Question Paper
HETT-12 fawr- sgaer (Geography) HHY- 3 TeT quite - 70

AT forSor:-

o udlgmeff Tremisra sraol 9rsgl 3 AR S
Candidates should answer in their own words as much as possible.

o 313il Ut siforari 3l
All questions are compulsory.

o ol UtGll bl A3 48 Bl
Total number of questions is 48.

o U 13125 AP SBfamiet=I Ul 3 | U® Ut & ar frapeu fou s1e 31 18l fameu
@I TRIol DBISRI Ud Ussl & {18 01 3ip forerif¥e 3l
Question No. 01 to 25 are multiple choice questions, each question has four options. Select
the correct option. Each question carries 01 mark.

o U%I IIRIT 26 A 34 A 3fcT o1 ITERI Ut 31 f512131 A fobodl 7 Uil w1 32 Soll
3iforart 31 Ui Ussl oI Hldl 1 i forerifed 3
Question numbers 26 to 34 are very short answer questions. Out of which it is mandatory to
answer any 7 questions. Each question carries 01 marks.

o U%GT AIRI 35 A 42 AD ol IR Ul 3l [SR1 A febodl 6 Uil oI IR Soll iforart
21 URID U Bl 3Tel 3 3icp forerifea 31
Question numbers 35 to 42 are short answer questions. Out of which it is mandatory to
answer any 6 questions. Each question carries 03 marks.

o UNGT INFRIT 43 A 48 STel IaERT et 31 fapodl 4 Uil I IR Soll SMfordrt 31 uid
U961 b1 3Tl 5 3icp forerifya 31
Question numbers 43 to 48 are long answer questions. It is mandatory to answer any 4

questions. Each question carries 05 marks.

1.“FTA4 3Nl AT §ATS AR a0 & T waul F1 Tl sreaas g1 I8 Fue frasr
%?
a. WaReh {colel b. TeleT &Y Ul
c. fasToT-SY-am-sarar d. 37T Il gFdlec |

1. “Human geography is the synthetic study of relationship between human societies and
earth’s surface.”” whose statement is this ?

a. Friedrich Ratzel

b. Ellen Churchill Semple
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¢. Vidal de la Blach
d. Alexander Von Humboldt

2. TY 3R SN farearraTe Heheuar fraa weqd R 2

a. fIfrycer b. Telel T dYeT
c. fasTer-gr-ar-sarer d. et sl |
2. Who introduced the concept of stop and go determinism ?
a. Griffith Taylor b. Ellen Churchill Semple
c. Vidal de la Blach d. Lucian Fabre

3. 214t eraTedY & TR A feg Y FTAEEAT fhdel) gof Y a7$ oY 2

a. 500 s I 3«0+ b. 600 #XIs & FH
c. 700 IS T 3 d. 800 S & ’¥F|
3. What was the recorded population of the world at the beginning of the 21st century ?
a. More than 500 crores b. More than 600 crore
¢. More than 700 crores d. More than 800 crores

4. faraafaf@a & @ wrea R gaers w1 @amor Faa

a. ST HEqS - 31 -§h b. 3T 31 Qe

c. 3T ATAIgT (g d. usH &Y

4. Who among the following created the Human Development Index ?
a. Dr. Mehbub ul haq b. Dr. Amartya Sen
c. Dr. Manmohan Singh d. Adam Smithn

5. AT e & FE7 suerat 7 R afFafaa a8t w2

a. 3T 34TTH b. ShedTuT 3UTTH

o

Gk 3T hdTl 3UTITH d.3cY9TgehdT 39T |

5. Which is not included in the main approaches to human development?
a. Income Approach

b. Welfare Approach

c¢. Minimum Requirements Approach

d. Productivity Approach

6. STIT T FeRT AT AT A 8 fFT ST F FETAATE ?
. AgT T & b. dreqeT &7
C. 3TSITETHT &7 d. 3Tcifes de 7|

[o})
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6. Which of the following regions is known as the Bowl of rust ?
a. Great Lakes region b. Petersburg area
c. Alabama region d. Atlantic Coast Region.

7. 3T - T & fiT Hea A A A FATFgA 87
a. TATIR HJelel b. 3N SATIR

c. faea#H R d. 31eTehel SUTIR Hglom

7. What is the difference in price between import and export called?
a. Trade Balance b. Unbalanced Trade
c. Reverse Trade d. Favorable Trade Balance

8. RwTeaTiee &t # Torer S Fr Wiww & forw Ry wepait i wreg of Smelt 32

R SIRCRCIERR b. eve} T areif
c. Fci ud TRl d. St ua Haf|

8. Which animals are used to pull the slej in snowy areas?

a. Dogs and reindeerv b. Horses and donkeys

c. Camels and giraffes d. Bullocks and buffaloes.

9. AR W FIT T 3 TTH 320 7 AT AN 82

a. AR b. gTferEdTa

c. HTeIEa d. HITATATA

9. Which one of the country is not included in SAARC countries ?
a. India b. Pakistan

c. Maldives d. Afghanistan

10. IR Y SFTIVTAT F IHTAR fArafaf@a & @ wla @t v Rervwar sar A afRemar &t afer
el §?

a. STTIEAT "elcd 400 STTF 9Tl 97 fehalleiex

b. FAIRYTTerehT, fATH 1 gl

C. 75% ¥ 318 STIHET FHT IATHS @3 H TeldeT g |

d. STAEEAT 3T 5000 Tfaaar & 37 g1l

10. According to the Census of India, which one of the following characteristics is not a part
of the Definition of a city?

a. Population density 400 people per square kilometer

b. Being a municipality, corporation

c. More than 75% of the population is engaged in the primary sector.

d. Population should exceed 5000 persons.
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11. SHACYT fhH TR T 79N &7

a. e R b. @eAeT IR

c. I¥ed IR d. 54 & PIS G
11. What type of city is Jamshedpur?

a. Industrial city b. Mining town

c. Tourist city d. None of these

12. g1 817 7 Ui¥HA! G@RT T & THST A TATT AT G Y FAT Fgl SATAT 82

a. Shlel b. 39

c. gd d. ST & HIg ST

12. What is the house built by Eskimos from pieces of ice in the tundra region called?
a. Crawl b. Igloo

c. Yurt d. None of these

13. farafaf@a affaal & vfawa # @ wia @1 539 & fFaR RefRadiarg 2

a. ATIATRR Ifawy b. &Y - 3R 9fawT

¢. dR & TR &1 9fd®q d. 3@ gfasa

13. Which of the following settlement patterns develops along roads?
a. Rectangular pattern b. T - shape pattern

c. Star shaped pattern d. linear model

14. faFafaf@a 7 @ s a1 AR &7 7 4 Arfieor w1 g R e
a. 37T TolehT 3TILGsT b. Ty 3TRee
c. FeT SquTdr d.87f R ee #1 sAT

14. Which of the following is the main type of land degradation in irrigated area?
a. Gully erosion b. Wind erosion
c. Soil salinity d. Deposition of silt on land

15. AR FY B Aifaaa wo & fre AT & S ST 82

a. Pl b. Prer@greT
c. T BIfaaT d. gearcaTesT

15. Which name was collective agriculture known in the Soviet Union?

a. Fajenda b. Kolkhoz
c. Truck farming d. Floricultre
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16. STeT HHTEEAT T HL&TOT FAT STHT 872
a. STel T AT & fow b. STl HTIT 3R Al & theldd TeuoT I efee
c. T 3R FJad IFHATA d . 3uerd @it

16. Why is conservation of water resources important?

a. For lack of water

b. In view of increasing demand and rapidly spreading pollution
c. Spatial and seasonal inequality

d. All of the above

17. '¥997 FleRX' Fg AT aTe eT9TqTT 5T FeT & 39- [amrga &

a. Jrafdeh e b. gfaciae GareY

c. Jclreh A d. 57 T PIS A8l
17. Businesses called 'Golden Collar' are sub-departments of which sector?
a. Primary Sector b. Secondary Sector

c. Tertiary Sector d. None of these

18. 3N Y STaT= Fr e @ Y FgT AT 82

a. olig 3&=h b. AT
C. HIIT d. areT

18. Which mineral is called the mother of industries?

a. Iron ore b. Manganese
c. Coal d. Copper

19. fAr=faf@a # ¥ o TUTe WX dgrell SATY] 3T T FUTie fam aram ar 2
a. TelIeFeha b. ITCTTYATT HR
c. TRRT d. TR

19. At which of the following places was the first nuclear power station established?
a. Kalpakkam b. Rana Pratap Sagar
c. Narora d. Tarapur

20. ref TR AT 3R yaerer ganT Ion$ STt arelt FRFH 1% - HiS FT HaT FE TSI AR
a. TSTEATT b. 3TT¢T 9S2r
c. SRS d. JTET veer

20. With which state is Neeru-Meeru, a program run by Watershed Development and
Management, related?
a. Rajasthan b. Andhra Pradesh

c. Jharkhand d. Madhya Pradesh
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21. TS AT f3heT T UPRT &1 HT9H H SzdT §?

a. AT HIIN - ShTell IR b. HALT A - ollTel AT
C. AT HIIN - 3T AR d. ShTell {9 - ofTel HIIR

21. Suez Canal connects which two seas?
a. Mediterranean Sea - Black Sea b. Mediterranean Sea - Red Sea
c. Mediterranean Sea - Arabian Sea d. Black Sea - Red Sea

22. ot & @ FieT a1 aTw Ty e foar # Rua 2

a. 9y b. 3T30H

c. T¢OY d. des

22. Which of the following grassland is located in Australia?
a. Prairie b. Downs

c. steppe d. Weld

23. gfay 31X AT FRE Iatert -

a. 9aTg o folw b. 31T STEAAT & forw
c. A Tweieor & forT d. I FewoT & ferw
23. Push and Pull factors are responsible for —

a. For migration b. For slums

c. For land degradation d. for air pollution

24. 2011 Y FAIOTAT & IHTHR SR Y Fel STATEAT el g7

a. 102.70 3 b. 121.02 AT
c.118.15 I3 d. STH A HIg oTar
24. What is the total population of India as per 2011 census?
a. 102.70 crore b. 121.02 crore

c. 118.15 crore d. None of these
25. STIHS g for g A X Rya &7

a Wa@r b. I ALY

c. AGTACT d. IMerady AT
25. Diamond Harbor is situated on which river?

a. Hooghly River b. Ganges River

¢. Mahanadi d. Godavari River
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3rfa- g 30T 92aT (Short Answer Type Question)
Arafaf@d yeat & & el a1 vl F13a08 & |

(Answer any seven question from given below)

26.HHIAIE FIATE ?

What is possibilism?

27. STAEEAT G ohY GREATT Y |

Define population growth

28. 6T HTY fFA FEAE 2

What is Intensive farming?

29. FAfHATOT 3T & 379 a7 FHSTA & ?

What do you mean by Manufacturing Industry ?

30. ool Sfeaai fFd Fea &2

What is Hamleted settlement ?

31. gaqavoiT fasra Far g 2

What is sustainable development ?

32. F YT FATE ?
What is seasonal migration ?

33. TR HcleleT & JTTehT T AT 87
What do you mean by trade balance?

34. 3eNMNRIOT AT IfShaT & Flef F YG¥T HET T F 3ceT gl &2

Which pollutants are mainly produced by the process of industrialization?

g 309 92T (Short Answer Type Question)
ffaf@a veal @ fredl & et w1 3av & |

(Answer any six question from given below)

35. Fehcl T HATTATRIUT 3l TS Y 2

Simplify the term Humanization of the Nature

36. STel IRage o cilel oTd IV |
Mention the three advantage of water transport.
37. 3R & TR I 3N o vy gait 3 fasnfora R mar 872 fordY v &1 aférea aofa &Y |
How many categories are industries divided into on the basis of size ? Briefly describe
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anyone.
38. #HIOT SRETAT & HET FHEII3N I oy |

Write the main problems of rural settlelments.
39. %R 3R 37T HI H AR o |
Write the difference between dry and wet agriculture.
40. 9asT 31T 9T Figred feoaoly ¥ |
Write a short notes on wind energy .
41. @ISt & TIETUT UF JeeieT FAT 37T & ?
Why conservation and management of minerals is necessary?
42. STel 31T FeT YGNUT & AHATH & T TR HgeaquT Foia ST |

Give four important suggestions for prevention of water or soil pollution.

&rer 38— e (long Answer type question)
freafaf@a meal & & FFedl aR weat F 3 & |
(Answer any Four question from given below)

43, STIEEAT g o O 3T FG1 FHSIA & ? Selh Teehl T fdEcl ITEAT HITAT |

What do you understand by population growth? Explain its components in details.

44, 3TN & FATATIRIOT hl FHTTAT &hlel aTel hIehl T TAaeell STy ?

Elaborate the factor affecting the location of industries?

45. FTHIOT T AR SE F FEd & ? s [AAYArd §ad |

What is rural and urban settlelment ? Describe its characteristics.

46. 9dTH FIT & ? $H% HRUI &l TAdTAT HIfST |

What is migration? Describe its Causes.

47. 9RlagsT Ud TR Ja13il & Hgcd T GiaEdr gulel hifaT|

Describe in detail the importance of transport and communication services.

48.1329 & AT A RArafaf@d s -

Show the following on the world map :-
a. 3TolET (Alaska)

. AfFge! T @WrSr (Mexico)
STt (Japan)

. Hhucr3eT (keptaun)

. #&$ (Mumbai )

® a0 T
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SIRIAVS IfSID 3folzieiNel Ud ufdrgrur ufdvg, it

Answer Sheet — Geography
Class-12 (MCQ)

1 a. e Yeatar

2 a. I eer

3 b 600 FZ

4 a. 31 AGYd 3o &
5 d. 3cUTEehdT 3UTTH
6 b. ReaeeT &7

7 a. SATYR HcJolel

8 a. Pl Td TSI
9 d. 3TaTfaEdT

10 C..75 % § 3TOh STATEIT H TATHS TS H TEATId glell
11 a. 3irenfares s
12 b.S?T‘—[\

13 d. ¥ gfawa

14 c. f& FaoTaT

15 b. SITEgIT

16 d. 3T qef

17 c. Jeirgeh Herel

18 a. oiig 3TTH

19 d. AR

20 b. 3TT=8T Weer

21 b. T AR — olTel IR
22 b.g:s'ﬂ

23 a. yag & fow

24 b. 121.02 S

25 a.gﬂ?ﬁﬂa
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